r—a b —c

8. fE 120° ([ P—a—Q MW P A1 Q W, 55451 AFLE B, B
> 0. ML A TS B 2tk o BIBEES 50 2 F1 4, HZBE AB = 10.

a z—b c

1981 TEBELRBELR (SESR) 5 L@ R -

—a b xz—c (1) sREZ AB iz o FIrCHIA:
(2) sREZ AB fFm Q Frkivr.
1% A FRAFEES, B 2R BHEIES, ik A = {FHE0,
B = {TeHEY, o5 e
(1) AUB;
(2) AN B.
6. EAAgNRIEIR 4 cosg ~cos% . 0082% ~~~~~ cos% = 5 Si?wz S 9. SETHL o2 — v? —1
AN 3 Sln —_
2. 45 A, B. C. D RREEN, ) TR 2 (1) 1 AR 1) T4 L SFARRIEA TR P K Py KR
(1) QnsRIkZEIE . RIFERA— A, JEATLRNETR? & H AT A TR 2S£ 1R, JVE 2R n AT PP, (S P BT
(2) IR AT = A, TR URIEIRY 5 A T RERSIA 25 (2) 152 B(1,1) BEREES m, M m SFATHZE TRA Qi & Qs
B B B4E Q1Qo P si? XEEEL m WRA7AE, SR BT W
SRATEAE, DIBAFL A .
3. TEAAIS/ANEF, 15 A & B R, e B, Rk
1, BEHAR.
A B AR B2 5% 7. % 1980 LERIREIA O LA 10 1235 W iR
TU3hIEABC DAFATIUATE | PUiLIEABC D 46T (1) IR EE N OFE L L mg 2%, AE42] 2000 FRAGEH 207
a=3 la| =3 (2) ZEE 2000 FIEREAN AL 12 {4, A2EFL EFEPHBERE BAILL AB NEAH LG —MNEIET I CDEF, Hilikl 1 (W
6= 150° snf = 3 =2 ). ¥ AC = a, BC = b, /F¥03 v, = a— b, uy = a® — ab + b7,
)ﬁ(aﬁb)ﬁx2+y2 =R’ I a>+ b2 =R? Tﬁuxﬁﬁﬁfﬁﬂ{ﬂ]ﬁﬁﬁ U3 =a3—a2b+ab2—b3, sy Uk = ak_ak_1b+akt_2b2_‘"+(_1)kbk'~, Sk
- JIE: Uy = Up_y +Up_o (n = 3).
1g1.0087 = 0.00377  1g1.0092 = 0.00396  1g1.0096 = 0.00417
4. HHAZER (LS =20 R00T), FFmLAER. 1g1.0200 = 0.00860  1g1.2000 = 0.07918  1g1.3098 = 0.11720 E D
lg1.4568 = 0.16340  1g1.4859 = 0.17200  lg1.5157 = 0.18060
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5. GHIESZERL, FHOM i AR BUm LA R

8. ABCD — AyB,C\ Dy h—IEMMAE, i Av Cv By = pS/E—#kH, KiF:
1981 HEHEFRIBEER (2EEY) HE ACB, L AT DBBD:

1.3 A FoRABEMES, B RRTEEMES, ik A = {(FHELD,
B = {FH}, il e
(1) AU B;
(2) AN B.

6. BANEJTY ABCD BRI A0, —1) M1 C(2,5), KL B A1 D[4
Fi.

o[t T 2

9. (1) BLHIZ: v = 4o WEZE y = 20 + k FriHsc KN 3V5, 5k k (1.
(2) LAAR (1) 19210952 062, MA@ S ERY R PONTRUS U =M%, 4
X=FIPRITERN 9 BF, ok P AyAHE.

3. f£ A B. C. D Pufifeif Arin,
(1) SR E RIBHR % — A, SATIURNEIL? B A REM I 453,
(2) AR 2 = N, A TURNERL? 5 B A T RERTIESE 25 R 7. 3 1980 fEERIE A TLL 10 123
(1) iR A D4R L BT 4T 2%, AB431 2000 Fetisz] 2 b7
(2) A 2000 PRI AN DAL 12 12, AR 2 EAT L BT B8 R

FiREL?

MR EE A ki
lg1.0087 = 0.00377  1g1.0092 = 0.00396  1g1.0096 = 0.00417
1g1.0200 = 0.00860  1g1.2000 = 0.07918  1g1.3098 = 0.11720
lg1.4568 = 0.16340  1g1.4859 = 0.17200  1g1.5157 = 0.18060

4. REFFEL f(x) =sina + cosz FEX[E] (=7, 7) LHYHA(E.
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